HOMEWORK ASSIGNMENTS   ♦  STAT 3611  ♦  SUMMER 2005

Assignment #1 

p. 29-31:  #1, 3, 5, 10, 14, 16, 17, 19, 20

p. 38-39:  #3, 6, 9, 10, 11, 12, 16, 21, 25, 26, 27

Hint: in #16 on p. 39, a 3-digit number cannot begin with a 0.

Assignment #2 

p.  46-47   #3, 4, 5, 7, 10, 12, 13, 15

p.  54-56   #2, 3, 5, 8,   9, 10, 13, 17, 22

Assignment #3 

p. 56:        # 18, 19, 20, 21 

p. 60-61:   # 1, 2, 3, 4, 5 (Exercises)

p. 73-74:   # 9, 11, 12, 14, 15, 16, 17, 19, 20, 25, 26.

Assignment #4 

p. 84-85:    #1, 2, 3, 10, 12, 13

p. 84-85:    #14, 15, 16, 17, 20, 21.
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Assignment #5 

p. 94-95:       #2,3,4,7,9,11.

p. 94-95:       #12,14,17,18, 20.

Homework  # 6
p. 102-103:   #2, 3 ,4, 6, 9, 12, 13; 

          *   17:  find Cov(X,Y) in #23 on page 95;

          *   18:  find the correlation coefficient ρXY  in #13 on page 85.

p. 112-113:  #1, 5, 7, 8,  14, 15, 19, 20, 22.

p. 124-126:  #1, 3, 6, 7,  15, 16, 22, 23, 24.

p .131-132:  #1, 4, 5, 8.

Assignment #7 

p. 131-132:   #13, 14, 17, 19.  

p. 139-140:   # 2, 4, 5, 7.

p. 139-140:   #8, 9, 10, 12, 13, 16, 20(a,b), 21.

Assignment #8 

p. 156-158    #20, 21, 22.

p. 156-158    #1, 3, 5, 8, 9, 13.

p. 156-158    #15, 18, 19.

p. 164-165:   #2, 5, 7, 8, 9, 13.

Please do the problems in the assigned order.
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Assignment #9 

    p. 174-175  # 1, 2, 6, 7, 8, 13, 15.

    p. 191-193  # 16, 17, 18, 19.

Note: exp(a) means ea.  Correction to #16:  Show 
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Additional Problem: Let f(x) be a probability function 

                               x              0         1        2                         

                             f(x)          0.5      0.2      0.3

     a.  If X is a random variable having probability function f(x), find
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     b. If  X1 and X2 are independent random variables having the same distribution f(x), find 
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Assignment #10 

p.200-201,      # 1, 4, 5, 8, 9. 12

p. 20,              # 7(a), plus calculate the trimmed means 
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p. 229             (Ch.8 Review), # 8.

p. 215-216,    # 2, 3, 7, 8, 9, 10.

p. 216,            # 12, 13, 14.

p. 227-228,    # 1, 3, 4, 5, 6.

Note: The answer in the book to #3 on p. 215 is wrong. The answer refers to the standard deviation, while the question asks about the variance.

Assignment #11 

p. 228,          # 8,  9,  12

p. 245-246,   # 2, 4, 6, 8, 13, 16.

p. 255-256,   # 1, 2, 5, 7.

p. 263-264    #12, 13, 17

p. 268,           # 1, 3.

Assignment #12 Do not hand in

p298-299           #1, 3, 4, 5, 15

p319-320           #1, 3, 5, 7,  8, 11, 12, 17

Solution to Assignment 12:

p298-299           #1, 3, 4, 5, 15

1. (a) Conclude that fewer than 30% of the public are allergic to some cheese products when in fact 30% or more are allergic.

     (b) Conclude that at least 30% of the public are allergic to some cheese products when in fact fewer than 30% are allergic.

3. (a) The firm is not guilty.

    (b) The firm is guilty.

4. (a) 
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(b). 
[image: image8.wmf]8454

.

0

)

1509

.

0

9963

.

0

)

6

.

0

|

12

6

(

=

-

=

=

£

£

=

p

X

P

b
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(c).  the test procedure is not good for detecting differences of 0.1 in p.

5. (a).  0.1286    (b). 0.0901;  0.0708           

(c) the probability of type I error is somewhat high for this test procedure.

15. (a).  
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(b) if 
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p319-320           #1, 3, 5, 7,  8, 11, 12, 17
1.  H0:  (=800,  vs   H1:  
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        z=(788-800)/(40/
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)=-1.64

        p-value=0.10

The mean is not significantly different from 800 for (< 0.10.

8.  H0:  (=200,  vs   H1:  
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      (=0.05    critical region:  t>1.729
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      Reject H0.

12. H0:   
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      (=0.06    critical region:  z<-1.88 or z>1.88

      
[image: image22.wmf]22

.

4

)

36

/

4

.

3

25

/

2

.

5

(

/

)

76

81

(

2

2

=

+

-

=

t


      Reject H0.  p-value<0.001
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